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While B and C are both UPE’s of LLC Y and the acquisition is part of the same agreement of the 
acquisition of Issuer X, in substance, B will only be receiving $1.5 million for its 50% LLC 
interest rather than the $3 million total.  The other $1.5 million will be paid to an unrelated C.
Thus, given that the total consideration received directly and indirectly by B is $79.5 million, 
no HSR filing would be required. 
 
I would welcome your thoughts. 
 
Thanks 
 

 
 
 
 
 

 
 

 
 

 
 
 
 
 

 

 

 
 

 

 
 




